} [pb,GeV ]

d 2

Ratio to ATLAS

dsqrt{
o

= =
o o
w [N

=
o
N

[EEY

0.5

8000 GeV pp Z (Drell-Yan)

EI_|' I I I I T T | I I I I T T | —]
- Splitting scale\/dﬁ2 (71<m <111 GeV) -
- ]
= ¢ -Q...’ ’..’ —=
— Q- EEm -
== =E | !!BL&E CHes o ]
wwe - I
= %o Ll m =
E \”*‘ \. E
L K'Y | —
= 0.., =
— », B -
= [ﬁ{‘\w.~ . -
— \\ ]
—  m ATLAS I
___ --3-- Herwig 7.2.1 default —
S ¢ Sherpa 2.2.9 default o =
;I- | | | | | I | | | | | | I I | | E
EI | I“ T T T T T T T | T T T T T T T T | T E
g E
I Bl
- '-_" p—
B 7
— '.".- —]
| \QE-E}'E'E—E\ |
| \\m ’ —]
1 | 1 1 IQ 1 1 1 1 1 | m\\ 1 "’I”’ 1 1 1 1 1 1 | 1
1 10 10°
sgrt{d_2} [GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


